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ZOlh
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1 Al FER — — BIRG LT IKE S b2 — AT REFTRER Ge R1.6.4 R1.6.4 <1.23 <8.50 <16
2 ALt EHER — MIFr:- =R PIRGLLT IKE o &8 AL RIBFATRER Ge R1.6.4 R1.6.4 <6.73 <1.77 <15
3 ARl BER — — B REY Fav — ML REFRER Ge R1.6.4 R1.6.4 <7.41 <1.54 <15
4 AT BEER — — PIRCLLT REY B4/2 INFY LT RBFAIRER Ge R1.6.4 R1.6.4 <6.94 <1.75 <15
5 LT BER — — IR BEY =S — BT REATIRE R Ge R1.6.4 R1.6.4 <8.93 <8.24 <17
6 ARl BER Al — B REY Jayal— — BILTREFTIRER Ge R1.6.6 R1.6.6 <7.78 <5.74 <14
7 Al BER Al — B REY Jayal)— — AT REFRER Ge R1.6.6 R1.6.6 <6.94 <6.94 <14
8 BB BER BB — TR REY Jayay— — BT REATIRER Ge R1.6.6 R1.6.6 <6.23 <7.07 <13
9 LT BER — MIF-ESEAMLUT I BEY 3 Bz A—2R BT REATIRER Ge R1.6.6 R1.6.6 <9.59 <8.24 <18
10 Al BER — MIFr:RERALUT B BEY KA AR RS AL RIBFATRER Ge R1.6.6 R1.6.6 <1.76 <9.04 <17
11 ARl BER ARl — B REY Jayal— — LT REEFTIRER Ge R1.6.10 R1.6.10 <6.78 <8.30 <15
12 LT BER AR LLITH — PIRG AT REY Jayal— — AL REFTIRER Ge R1.6.10 R1.6.10 <71.29 <8.66 <16
13 ARl BER ARl — B REY Jayal— — AL REFTRER Ge R1.6.10 R1.6.10 <7.34 <8.22 <16
14 ARl BER ARl — B REY Jayal)— — EILTREEFTIRER Ge R1.6.10 R1.6.10 <8.72 <7.41 <16
15 ARl BER ARl — B REY Jayal— — LT REERTIRER Ge R1.6.10 R1.6.10 <9.12 <8.38 <18
16 AT dtimE — — PIRGLLT IKE 24T - AL RIBFATRER Ge R1.6.11 R1.6.11 <9.00 <1.44 <16
17 Al EHER — MIF: =R PIRGLLT KEY FoHr £ AT REATRER Ge R1.6.11 R1.6.11 <6.88 <8.44 <15
18 AT — — SLERT B RARIUTT MBS |4I-ARARS 42 — AL RIBFATRER Ge R1.6.11 R1.6.11 <4.40 <4.41 <88
19 ARl — — SLERT RS RAILT @M |FU-LRRRS ZLERH — AT REFRER Ge R1.6.11 R1.6.11 <3.70 <3.18 <6.9
20 A — — SLERT: RS RAILT B |4A-ARARS FLER — AL RIBATRER Ge R1.6.11 R1.6.11 <4.01 <4.20 <82
21 Al — — SLEFT: RERAILUT B Z Dtk FEEEL = AT REATRER Ge R1.6.11 R1.6.11 <8.32 <8.39 <17
22 Al — — SLERT R B RARILUTT B |4I-ARARES 42 — AT REFTRER Ge R1.6.11 R1.6.11 <4.49 <3.97 <85
23 ARlrh — — SLERT RS RAILT B Z Dt LHH — AT REFTRER Ge R1.6.11 R1.6.11 <6.10 <6.97 <13
24 AT BER — MIFr-EERABLT B BEY 73 BT AT REEATRER Ge R1.6.11 R1.6.11 <8.43 <9.30 <18
25 AT EFR — MIFR:-RERELh B BEY S BRI LR AL RIBFATRER Ge R1.6.11 R1.6.11 <7.86 <8.73 <17
26 AT FER — — B IKE 24T — ML RBFIIRER Ge R1.6.18 R1.6.18 <8.97 <197 <17
27 Alrh EHE — MIFr:- =R B IKE FoHr &I AT REFTRER Ge R1.6.18 R1.6.18 <8.87 <1.97 <17
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Al — — SLERT: RS RALT MBS |4A-ARARR 42, — LT RIBATRER Ge R1.6.18 R1.6.18 <4.26 <3.92 <82
ALt — — SLERT R B RARILTT MBS |4I-ARARS 42 — AL RIBFATRER Ge R1.6.18 R1.6.18 <3.65 <3.86 <15
ARl — — SLERT RS REILT EM  |FU-ARRRS ZLERH — AT REFRER Ge R1.6.18 R1.6.18 <3.89 <4.02 <19
AL — — SLERT - RS RALT PTG AT Z Dt FEEZL — ML RERMRER Ge R1.6.18 R1.6.18 <7.08 <9.21 <16
Al — — SLEFT: RERAILT MBS |4I-RARS 42 — AL RIBFATRER Ge R1.6.18 R1.6.18 <4.06 <3.80 <19
BBl BER — — B REY R = — AL REFTIRER Ge R1.6.18 R1.6.18 <6.00 <8.94 <15
ARlrh BER — — B REY LBR — AT REFTRER Ge R1.6.18 R1.6.18 <8.09 <8.96 <17
AT BEE A — B REY Y Y AT REEATRER Ge R1.6.18 R1.6.18 <9.33 <8.70 <18
ARl BER — — B REY 4y — EILTREEFTIRER Ge R1.6.18 R1.6.18 <8.49 <6.36 <15
ARl EER — — B REY Fa) — ML REFRER Ge R1.6.18 R1.6.18 <8.07 <7.40 <15
AR BER — — PIRG AT REY avvr — AL REFTIRER Ge R1.6.18 R1.6.18 <8.76 <7.42 <16
AT — — SLERT: RS RALT B Z Dtk 28 — AT REEATRER Ge R1.6.20 R1.6.20 <8.28 <1.96 <16
AT — — SLERT RS RALT PIRCLLT Z D4tk 28 — LT REFTRER Ge R1.6.20 R1.6.20 <9.91 <6.81 <17
AT — — SLERT RS RA LT PIRCLLT Z itk = — LT RBFIIRER Ge R1.6.20 R1.6.20 <1.12 <197 <15
LT — — SLERT RS R ILT PIRG AT T Dtk W= — AL REFTIRER Ge R1.6.20 R1.6.20 <8.12 <8.47 <17
ALt — — SLERT: RERALT B Z Dtk M= — AL RIBFATRER Ge R1.6.20 R1.6.20 <9.11 <8.46 <18
BBl BER Al — B REY LABR — AL REFTIRER Ge R1.6.20 R1.6.20 <8.18 <8.30 <16
BB BER BB — b BEY HII757— — BT REATRER Ge R1620 | R1.6.20 <1.76 <9.24 <17
AL BEE ARl — PIRGLLT REY o =D — MU REMZRER Ge R1.6.20 R1.6.20 <9.28 <8.84 <18
ALt BER A — B REY 7% — AL RIBFATRER Ge R1.6.20 R1.6.20 <7.88 <7.42 <15
Al BER — — PIRCLLT IKE A2ALA — ML RBFIIRER Ge R1.6.21 R1.6.21 <1.92 <6.85 <15
ARl BrER — — B IKEY IVAITAT A — LT REFTRER Ge R1.6.21 R1.6.21 <5.49 <9.91 <15
AT — — SLERT RS RAILT ES |4A-ARARS 42 — AL RIBFATRER Ge R1.6.25 R1.6.25 <4.02 <3.97 <8.0
AT — — SLERT: RERAR LT MBS |4AU-ARARR 43 — AL RIBFATRER Ge R1.6.25 R1.6.25 <4.15 <4.42 <8.6
AT — — SLERT - EERA LT FES |4A-ARARS FLER — AL RBFTIRER Ge R1.6.25 R1.6.25 <3.87 <4.32 <82
AL — — SLERT RS R BIRG AT Z Dt FEEZL — AT RBATIRER Ge R1.6.25 R1.6.25 <8.68 <7.03 <16
AT — — SLEFT: RS RAILT ES |4I-ARARS IIEL — AT REEATRER Ge R1.6.25 R1.6.25 <3.81 <4.06 <19
ARl EER — — B REY ¥ — EILTREEFTIRER Ge R1.6.25 R1.6.25 <8.52 <1.07 <16
ARl 2ER — — B REY k< h — AT REFRER Ge R1.6.25 R1.6.25 <8.38 <1.31 <16
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57 AT EER — — MU RERMRER Ge R1.6.25 R1.6.25 <8.72 <9.68 <18
58 ARl — SLERT - EERAE LT — AT RBFTRER Ge R1.6.25 R1.6.25 <8.67 <9.19 <18
59 AT — SLER RS R — AT RBFTIRER Ge R1.6.25 R1.6.25 <8.24 <8.73 <17
60 BEE BEE (%éﬁgglgiﬁ%) PFLKRIR — B REAETRAR Ge R1.6.27 R1.7.10 <3.1 <28 <5.9
61 BER EER (%g@j&lgiﬁg) PFLAKIR — BE R EAERRER Ge R1.6.27 R1.7.10 <35 <33 <6.8
2 | mBR | EBR il B £5EFE BB RELTRT Ge | Ris27 | RiZIO | @2 | <28 | <o
63 BEE BER (é{%’ﬁgg?iﬁ%) EimE BB R AR Ge R1.6.27 R1.7.10 <71 <15 <15
64 IS BEE (%&éﬁgglxiiﬁgﬂ ESE S BEREAERRMR Ge R1.6.27 R1.7.10 <1.0 <6.2 <13
65 EER EER (%éﬁggﬁiﬁfﬁ) — B REAERRR Ge R1.7.2 R1.7.10 <12 <4.8 <12
66 EER EER (%;%’ﬁ;gjg?iﬁgﬂ +REFE EEEEEWER Ge R1.72 | R1.7.10 <6.9 <54 <12
67 BEE BER (%éﬁgg?iﬁ%) MoLIE BEREAERRER Ge R1.7.2 R1.7.10 <9.2 <6.7 <16
68 BER BEE (%;ﬁgéu@lé%% — BEREAERRAR Ge R1.7.1 R1.7.10 <5.3 <5.2 <11
69 EER EER (%’ﬁ%é”%i,%% BRLLODE BB RAERER Ge R1.624 | R1.7.10 <6.3 <10 <13
70 EER EER %ﬁﬁ%éué%% TR IE BESRBAERRER Ge R1.6.27 R1.7.10 <4.6 13.1 13
71 BEE — (%%’ﬁgﬂg;ﬁlﬁgﬂ BENN=T — RS REAERRR Ge R1.6.20 R1.7.10 <8.6 <12 <16
72 BEE — (%%’ﬁ;%gﬁf%) DIFUIT—F BEREAERRR Ge R1.6.21 R1.7.10 <5.9 <5.9 <12
73 EER — (gzj%’ﬁ@_%};ﬁrfﬁ) — BESREERRR Ge R1.6.21 R1.7.10 <8.0 <14 <15
74 BEER — (é{%’ﬁ%%gﬁﬁfﬁ) — BEREHAERRR Ge R1.6.21 R1.7.10 <16 <71 <15
75 BEE — %’ﬁ%gﬁgﬁ% — RS REAETRAR Ge R1.6.21 R1.7.10 <6.4 <5.3 <12
76 EEE — (%%’ﬁ;ggﬁfgﬁ) BV BEREAERRER Ge R1.6.21 R1.7.10 <6.3 <5.7 <12
77 EER — (%%%’{giﬁfgﬂ DIFUIT—F BEREHAERRER Ge R1.6.21 R1.7.10 <48 <4.6 <9.4
78 BEER — %’%é”ﬁ%%% — BEREAERRER Ge R1.6.21 R1.7.10 <4.8 <4.7 <9.5
79 BEE — %’ﬁ%gﬁgﬁ% — B REAETRAR Ge R1.6.21 R1.7.10 <5.8 <55 <11
80 IS — (%%’ﬁg%gﬁr?ﬁ) HFEALWS — B REAERRR Ge R1.6.21 R1.7.10 <19 <6.2 <14
81 EER — (%%’ﬁg_jiuﬁfﬂiﬁrgﬂ — BEREHAERRER Ge R1.6.21 R1.7.10 <6.7 <6.0 <13
82 BEE — (é{%’ﬁ%%gﬁf%) — RS REATRMR Ge R1.6.21 R1.7.10 <6.3 <6.1 <12
83 BEE — (g%’ﬁ;]’”ﬁ%;ﬁf%) HFEALWS — BEREAERRMR Ge R1.6.21 R1.7.10 <6.4 <4.9 <11
84 EER — (%’g;ﬂ};ﬁgﬁ) — BB RAERER Ge R1.621 | R1.7.10 <5.9 <5.0 <11
85 EER — BT 5RAT — EEEHEWER Ge R1.621 | R1.7.10 <5.7 <5.3 <11
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115 =ER (‘%’ﬁ%é%?% Z Dk YINgav=xy — EEREEMRERT Ge R1.6.28 R1.7.10 9.4 <12 <17
116 =ER (%’ﬁ%é”éti-}%% ZDith — EEREREMERT Ge R1.7.2 R1.7.10 <5.1 <5.3 <10
1 4 = = . =

117 EER (%“%LQ_HEI?% ZDith — EEREEMER Ge R1.7.2 R1.7.10 <6.4 <6.0 <12




